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— RELEASED FORM

1 The table below shows the probability distribution of the number of televisions in
each house in a community. .

Televisions | Probability
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A soiution’s pH is given by the function p(t) = -log(f), where t is the 5

hydronium lon concentration, in moles per liter. A sample of coffee has a pH of
5.0. What is n:@mbhﬁox..amnm hydronium ion concentration of the sample?
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A sequence is shown below.
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Which statement is-true about the sequence shown below?
0, 4.5, 12, 22.5, . . . w\wxg
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The series converges because the fimit of the sequence as n approaches
infinity is infinity. €— tMa kes Ne enge
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The series diverges because the limit of the mmn_cm:nm as n approaches m amﬁ i
infinity Is infinity.

D The series diverges because the limit of the mmncmsnm as n approaches
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A pharmaceutical no_.:_um:< is creating.a new n:o_mmwma_ drug to prevent heart
disease. The company must collect data _u< testing the drug before It is muﬁ..o<ma
Which would be the best _.:m.n:oa Qn anm ‘collection?

& \ 2¢
T ow 4 Qn exprimentyl m Skl
. {{4n Wzmnm S drling
Lauging 0 &
wn .smw_ i
: praves

C simulation

D  survey

LA

1A ;E\nﬂn.

/G0 to the fext page.



B - - - B
5\1.erm>mmu FORM
7 The table below shows the midterm and final exam grades of ten students. 9 If the probability of giving birth to a boy is 0.52, what is the approximate
@ probability of giving birth to four consecutive boys?
Midterm | 68 |78 | 92|90 |88 |82 94|83 71|62 \N.C A 0.021 i o\nw Wy WT%W
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B The final exam grades have a lower mean and mnm_._n_m_.n_ deviation than the R U«.J
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10  How many more ways can 10 juniors running for the positions of president,
C  The final exam grades have a higher meansand a lower standard deviation VICe president, secretary, and treasurer be selected when: no_.:vm_‘mn_ to
than the midterm grades. : 12 sophomo, mwmm running for 5 identical uom_co:m 0
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12 It costs a bakery $3.50 to make apple pies that sell for $12 the first day they are
baked.

ol If & pie is not sold on the first day, the new price is $8.50.
of The probability of selling the apple pie the first day is 75%.
ot There is a 12% probability of seiling it on the second day.

of If the apple pie does not sell by the end of the second day, it is
' donated.

What is the approximate expected profit per pie *o_. the.bakery on the sale of _nm o
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x 4 5 6 7 8

P{x) 0.22 1 0.06 } 0.04 } 0.02 | 0.01
What is the expeécted size of a household in Cityville?
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14  What is the middle term for the expansion of (x* + 3)1%?
A 729x7 fix M a4 2 6 Ompu SU
B @NA.XWN 12
O fa ey < . 27 Mtnw
@ 673,596x'2 (o wmﬂw 124X 4

= (s73%,L90X

D 665,280x%2

15  Abby took an 8-question multiple-choice guiz. Suppose ﬁ:mw her probability of
correctly answering any question is 0.75. What is Abby's E.cawc.:? of incorrectly
answering exactly two questions on the quiz? ’
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16  Which function resultsiby ('the graph of v = In(x + 3) - 6 tc the left 4 units
and down 3 units?
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17 Which piecewise function is graphed below?
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A 10]

Answer choices are on the following page.
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191 feet
369 feet
448 feet
560 feet
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how tall is the water tower?
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20 Given .ﬂ:m table below:

NG~ RELEASED Fu:M

19 A water tower is located 410 feet from a building. From a window in the building, it 21 A Ferris wheel has a diameter of 80 feet. Riders enter the Ferris wheel at its lowest
is observed that the angle of elevation to the top of the tower is 42 degrees and : point, 5 feet above the ground, at time ¢ = 0 seconds. One complete rotation takes
the angle of depression to the bottom of the tower is 25 degrees. Approximately &5 seconds.
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22 How does the graph of g(x) = 0.5cos(2x) differ from the graph of its parent _ 25 A bathroom floor has tiles arranged in 9 circles, The Innertriost circle contains

function, f(x) = cos(x), over the interval —x < x < =? 9 tiles. Each successive circle contains 9 more tiles than the previous circle. How
: ) V4 \ many total tiles are on the bathroom floor? s . o
@ The amplitude is smalter, and the Umﬂmﬁ is shorter. S 1 , ﬁﬁavfém.w«.h Cevie :
,\ ) X m. A 81. L Q
B The amplitude is smaller, and the périod is longer. h \ \ ' G .
P e period Is iy _ B 396 2 CFnk @, :
C The amplitude is larger, and the period is shorter.
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23 Two sides of a triangle measure 14 ft and 17 ft, Bmumommmmm.%ﬁ.%wézﬁmama vmsm__mmﬁm% a4isd *
72°. Approximately how long is the third side of the-tridpgle?
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